## **Award Worksheet**

Purchasing Entity: Shelby County Schools

Bid ID: 2638

Awarded:

**Run Date:** 3/11/19 11:26 am

Description: Bid for

Bid for Maintenance Warehouse Lamps Ballast

Lamps Ballast-#924354-TJ

 Bids Due By:
 03/11/2019 11:00 AM

 Bids Sealed Until:
 03/11/2019 11:00 AM

**Effective Start Date:** 

Effective End Date:

Category:

## **Vendor Summary Information**

Vendor Name	Response Terms	Response Payment Terms	Response Dollar Summary
Amazing Lighting Solutions	Deliveries are normal available within 72 hours of purchase	15net	19,200.0000
BRIGHTER DAYS AND NITES	2 - 3 weeks	Net 15	12,525.0000
Graybar Electric			7,701.0000
Lighting Source	STOCK TO 4 DAYS	NET 30	10,014.0000
SMC Lighting Supply		NET 30	7,335.0000
Southern Sales and Service Company Inc	Pricing good for 30 days	Net 30 days	9,651.0000

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award	
No lotted items found fo	r the selected criteria. See specification attachment Manufacturer & Part Number:	1 - Count Universal - B232IUNV	SMC Lighting Supply	6.6700	300	2,001.00				
	Quoted as Spec'd: Yes		Product Number: B232IUNVHP	-N-010C						
	Response Item Payment Terms: NET 30 DAYs									
	Response Item Notes: 7-10 DAYS ARO									
	See specification attachment Manufacturer & Part Number:	1 - Count Advance - ICN2P32N	Graybar Electric	7.1500	300	2,145.00				
	Quoted as Spec'd: Yes		Product Number: ICN2P32N35I							
	Response Item Payment Terms: 2% 30 DAYS									
	Response Item Notes: THE CORRECT PART NUMBER IS ICN2P32N35I									
	See specification attachment  Manufacturer & Part Number:	1 - Count  Advance - ICN2P32N	Southern Sales and Service Company Inc 35I	8.9900	300	2,697.00				
	Quoted as Spec'd: Yes		Product Number: EL01973							
	Response Item Payment Terms: NET 30 DAYS									
	Response Item Notes: LEAD TIME IS 2 TO 4 WEEKS ARO									
	See specification attachment Manufacturer & Part Number:	1 - Count Universal	Lighting Source	9.4600	300	2,838.00				
	Quoted as Spec'd: Yes		Product Number: B232IUNV							
	See specification attachment Manufacturer & Part Number:	1 - Count Sylvania - QTP2X32T	BRIGHTER DAYS AND NITES 8/UNV-ISN-SC	13.2500	300	3,975.00				
	Quoted as Spec'd: Yes		Product Number: 49906							
	Response Item Payment Terms	: NET 15								
	Response Item Notes: 2 - 3 WEEKS									

Line Lot Number Code	Item Description See specification attachment Manufacturer & Part Number: Quoted as Spec'd: Yes	Purchase Unit 1 - Count TCP	Vendor Amazing Lighting Solutions  Product Number: E2P32PSUN	<b>Bid Price Q</b> (	sponse uantity 300	<b>Total Price</b> 5,400.00	Pending Award Quantity	Pending Award Total	Pending Award	
	Response Item Payment Terms: 15NET  Response Item Notes: Quantity 300 times \$18.00 each totaling \$5,400.00									
2	See specification attachment Manufacturer & Part Number:	1 - Count Universal - B432IUNV	SMC Lighting Supply /HP-A-010C	8.8900	600	5,334.00				
	Quoted as Spec'd: Yes		Product Number: B432IUNVHF	P-A-010C						
	Response Item Payment Terms:	NET 30 DAYS								
	Response Item Notes: 7-10 DAYS ARO									
	See specification attachment  Manufacturer & Part Number:	1 - Count  ADVANCE - ICN4P32	Graybar Electric	9.2600	600	5,556.00				
	Quoted as Spec'd: Yes		Product Number: ICN4P32N35	SI .						
	Response Item Payment Terms:	2 % 30 DAYS								
	Response Item Notes: CORRECT PART NUMBER IS ICN4P32N35I									
	See specification attachment Manufacturer & Part Number:	1 - Count Advance - ICN4P32N	Southern Sales and Service Company Inc 35I	11.5900	600	6,954.00				
	Quoted as Spec'd: Yes		Product Number: EL01974							
	Response Item Payment Terms: NET 30 DAYS									
	Response Item Notes: LEAD TIME 2 TO 4 WEEKS ARO									
	See specification attachment Manufacturer & Part Number:	1 - Count Universal	Lighting Source	11.9600	600	7,176.00				
	Quoted as Spec'd: Yes		Product Number: B432IUNV							
	See specification attachment Manufacturer & Part Number:	1 - Count SYLVANIA - QTP4X3	BRIGHTER DAYS AND NITES 2T8/UNV-ISN-SC	14.2500	600	8,550.00				

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Quoted as Spec'd: Yes		Product Number: 49908						
		Response Item Payment Terms: NET 15								
		Response Item Notes: 2 - 3 WEE	EKS							
See specification 1 - Count attachment  Manufacturer & Part Number: TCP		1 - Count	Amazing Lighting Solutions	23.0000	600	13,800.00				
		Quoted as Spec'd: Yes		Product Number: E4P32PSUNV	/E					

Response Item Payment Terms: NET15

**Response Item Notes:** 23.00 EACH TIMES 200 = \$13,800.00